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For each question from 1 to 28, four options are given. One of them is the correct answer. 
Make your choice (1, 2, 3 or 4). Shade your answer on the Optical Answer Sheet. 

{56 marks) 

1. The table shows the cell parts that are present in cells A, B, C and D. A tick ( ✓)
indicates the presence of the cell part.

Cell part 
Cell Nucleus Cell Membrane Cell Wall 

A ✓ 
B ✓ ✓ 

'& ✓ 

D I 

Which of the following is/are plant cell(s)? 

(1) B only

(2) A and B only

·(�) A and D only

(4) C and D only

Chloroplasts 

✓ 

2. The diagram shows parts P, Q, R, S and T, in the human digestive system .

• R_ - .• ·.-

Which of the following statement(s) is/are true about parts P, Q, R, S and T? 

A Digestion is completed at part T . .,,9,J 

B Only parts R and S produce digestive juices. 

C Part P breaks down food into smaller pieces. 

D Part Q transport digested food from the mouth to the stomach. 

(:l) B only 

(__2) A and C only

(3) B and D only

(.t) A, C and D only 
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